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Answer according to instructions: 

Which network topology requires terminators at the ends of the lines?    

Expand the term : GNU, PHP                            

How is coaxial cable different from optical fibre?       

What is the difference between IP address and MAC address ?     

What is snooping and phishing?                                                                         

What are the common threats to Network Security?      

Which elements are needed to control a Loop?                 

A list namely myList has SelectionMode property set to SINGLE-INTERVAL. How would you 
obtain  
the indices of selected value?  (ii)  the selected value?         

a. Find the output:           

I. int f=1,i=2; 

do  

{ 

 f*=i; 
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} while(++I <5); 

System.out.println(f);         

  

Can you assign justified alignment to a paragraph in HTML     

What is XML? Write its advantages.        

What are the steps involved in JDBC connection?       

Rewrite the code using While Loop?  
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Two doctors in the same room have connected their palm tops using Bluetooth   for working on a group 
presentation. Out of the following, what kind of networks they have formed? LAN,MAN,PAN,WAN. 
                     
 

Arrange the following communication channels in ascending order of their data transmission 
rates. ETHERNET CABLE,OPTICAL FIBER,TELEPHONE CABLE,COAXIAL CABLE.    

 

Which transmission medium should be used to transfer data across two continents at very high 
speed?         
 
 Which of the following software’s are open source: 
LINUX,MS WINDOWS 7,PHOTOSHOP,MYSQL       

 

 Explain the difference between domain name and URL with the help of appropriate example of 
each.  
(f)Name any two Indian scripts included in Unicode.     
(g)Differentiate star and bus topology of networks.     
 
(a) while working in netbeans ,ranjeeta included a listbox in the form.now she want 
the list of her friend’s names to be displayed in it .which property of listbox control should she 
use to do this?       1 (b)What is the purpose of 
default clause in a switch statements ?   
(c) What is the purpose of  break statements in a loop?     
(d)Write the two  properties of jtextfield?       
(e)What will be the value of x and y after execution of the following code:  
 int x,y=0; 
 for(x=1;x<=5;x++) 
 y=x++; 
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 - -y; 
(f) Write a function in java that takes principal,rate and time as parameters and returns simple 
interest.         
(g) Write a function in java that takes two numbers as parameters and returns their sum. 
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Explain function of Modem and Switch.                                                                    

                   (b)  What is an IP address ? Give two characterstics.                                                     

                   (c.) What is networking? Name any three types of networking.                                       

                   (d.) Why network security is an important aspect over data security?                                       

                   (e.) What is the difference between Bridge and Router?                                                 

                   (f.) What is protocol ? name of any two   protocol.                                                          

           (a) What is front-end ? Name any two GUI which are used as front-end.                        

                  (b.) What is MAC address ?                                                                                             

          What is Topology? Name Four Topologies  Explain                                                         
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